
       PERFORMANCE
GRILL CARTS

ATTENTION:

Warning: Heavy Weight Hazard!

XO PERFORMANCE SIDE BURNER CART ASSEMBLY INSTRUCTIONS

MODEL:
XOGSBCARTXLT

THIS INSTRUCTION MANUAL CONTAINS IMPORTANT INFORMATION NECESSARY FOR THE PROPER
ASSEMBLY AND SAFE USE OF THE APPLIANCE.  PLEASE READ AND FOLLOW ALL WARNINGS AND
INSTRUCTIONS THAT ACCOMPANY BOTH THIS CART AND THE GRILL BEFORE ASSEMBLING AND 
USING THE APPLIANCE.  THIS PRODUCT IS DESIGNED FOR OUTDOOR USE ONLY.  DO NOT OPERATE
IN ANY ENCLOSED SPACE. 
FAILURE TO FOLLOW ALL SAFETY INSTRUCTIONS MAY RESULT IN PROPERTY DAMAGE, INJURY OR DEATH.



Unpacking  
•
• Remove all cardboard, foam packaging material and nylon bags.
• Dispose / recycle all packaging materials.
•                     no tsil eht ni ”dedeeN slooT“ eeS .sloot deriuqer eht rehtag dna xob eht ni stnetnoc eht lla yfireV

next pages.

Tools Supplied or needed

1 x Box Cutter
1 x #2 Phillips head 
        screwdriver

2



Spare Parts List
No. Part Number Description Qty

1. XOPG64974           Handle 2

2. XOPG64975 1

3. XOPG64978 1
4. XOPG64976
5. 

6. 

7. XOPG64977 1

8. XOPG64979 1

9. XOPG64980
10. XOPG64995 1
11. XOPG64996           Casters  Non-Locking             

XOPG64997 2
XOPG64981 as 1

 / Base

2

34 5 7
9

10

11 12

13

6

1

12.
13.

1

1

8

XOPG64980

3



What Comes In The Box

Handles
(2 PCS)

SIDE BURNER
CART ASSEMBLY

Casters
(2 PCS)

Locking Casters
(2 PCS)

Gas Connection Wye
(1 PC)

Electrical Connector
Not Shown

(1 PC)

Hardware

(6 PCS)
Screwdriver  

(1PC)

4



ssembly Instructions

The primary cart cabinet is pre-assembled at the factory.  You will still need to do some assembly to
attach the handles and casters in addition to mounting the unit to the side of the grill cart.

grate.  

You will see an attachment M5x10 bolt on either side that extends out from the interior of the burner
into the side walls of the cart. 

 

Remove these two bolts. 

And lift the side burner 
up and out from the cart.

5



Lay the empty cart on it’s back.  Use the cardboard packaging as a working surface to prevent
scratching.  Using (16) M6x12 bolts (4 per caster) attach the caster to each of the corners of the
base as shown.  
The locking casters must be installed on the right hand side - the non-locking casters must be 
installed on the left. 

Remove the (2) handle assemblies from the bag.  Remove the M6x60 bolts and use them to attach
one handle to the lid and the other handle to the door as shown.

6



Screw into the right side panel and base  6 -  M5x10 bolts 2/3 of the way in as shown below.

7

Remove the right side shelf brackets for installation on the Side Burner Cart.



Slide the side burner cart to the main cart and allow the 4 screws on the top and the two screws on 
the bottom to slide over the M5 x 10 bolts.  Once in place tighten them witht he supplied screw 
driver.

8



Reinstall the side burner into the cart using the removed M5x10 bolts.

9



 

IF YOU SMELL GAS: 

Shut o� gas to the appliance.
Extinguish any open �ame.
Open the lid .
If odor continues, keep away from the appliance and immediately call your gas  
or your  �re department.

DANGER

10



Leak Testing Instructions

Fixing a Gas Leak

•
• Turn all grill controls to the “ON” position to purge the grill of any gas build-up, then turn the

controls back “OFF”.
•
• Tighten the loose joint, or replace the faulty part with manufacturer-recommended replacement

parts.
• Repeat the leak test to ensure that no leaks are present.
•

grill inspected by a licensed gas professional Do not use the grill until the leak has been
corrected.

Cylinder Valve

Coupling Nut

Figure 1.

Figure 2.

Pressure Relief Valve

Propane Tank  
(not included)Propane Dust Cap

(used when in storage 
or transportation.)

Propane  Regulator
(included)

Hand tighten to ensure proper 
seal for correc ow.

Valve Protection Collar

Propane Gas Installation

NOTE: Place gas tank under BBQ and NOT IN THE SMALL CART.
Propane gas Cylinder Connections

Dust Cap - Place dust cap on cylinder valve outlet whenever the cylinder is not in use. Only install 
the type of dust cap on the cylinder valve outlet that is provided with the cylinder valve. Other types 
of caps or plugs may result in leakage of propane.

Propane cylinder must include a collar to protect the cylinder valve

11



XO APPLIANCE  |  120 EAGLE ROCK AVE. SUITE 303  |  EAST HANOVER, NJ  07936
P. 973.403.8900  WWW.XOAPPLIANCE.COM

IMPORTANT
REFER TO YOUR GRILL OPERATING MANUAL

FOR INFORMATION REGARDING THE GAS
CONNECTION TO YOUR GRILL.

FAILURE TO FOLLOW ALL SAFETY GUIDELINES
MAY RESULT IN PROPERTY DAMAGE, INJURY OR DEATH.

12


	SIDE BURNER XO CART V1



